H & 0l & AHS B Ml A
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S SRR
M HYRAZH(SXXE1L)
CHel: QI 2AH|(SXIXIR D) (S &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXIX2 4,558,113 4,670,506 A112,393
= 1,094,900
[ 151,455
Al 1,708,161
- 1,603,597
HH2LIHI(SXXAD) 227,192 225,077 2,115
= 69,45
Al 34,728
- 123,008
I (SXXIEL) 196,172 191,807 4,365
[ 69,456
Al 34,728
- 91,988
IS 2HH|(SEAtAIZEIAL QIAH] XIH) 196,172 191,807 4,365
[ 69,456
Al 34,728
- 91,988
101 @124H| 171,040 166,675 4,365
= 69,456
Al 34,728
- 66,856
03 SR (RINHA) 222+ 171,040 166,675 4,365
OS S A2l At 171,040
—Jlzs 9,004,000& 123 108,048
= 54,024
Al 27,012
- 27,012
—=4| 140,000 x4 * 122 6,720
—AN22Z2RE
46,2652 x 122 x30A1 2+ 150% 24,984
[ 12,492
Al 6,246
- 6.246
BRSNS =Sy 46,2663 * 15 +BA[ 2 5,652
—ItEE 390,000 * 122 4,680
—SEFOHI 5,327,830 23] 10,656
—3d2=+4 3,820,000 #23] 7,640
= 2,940
Al 1,470
- 3,230
—d2gtita 230,000& * 122 2,760
202 04t 5,760 5,760
01 =LHOHI 5,760 5,760




2A: SXXD
M HE2UAY| (=X XD
CHRl: CIER9H|(SXIXIAD) (CH9: /M)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OZX0H| 120, 0002 *4% * 122 5,760
3 pIRRY=S 19,372 19,372
M ZRE(PI|HH)22K PHaL2 = 19,372 19,372
O=01013 157, 3002 x4% * 122} 7,551
OALRE 146, 0702 *4% * 122 7,012
OO EE 100, 1702 *4%* 122 4,809
J12dHI(SXXI&) 31,020 33,270 A2,250
Jl2ZHI(SXIXI) 31,020 33,270 N2,250
201 B2 22,380 22,650 £~270
01 Al 13,980 14,250 A270
ORN2g Y| 5,400, 00024 *90% 4,860
OJ|=YR4;S AL 9,120
— QR 8,0008!* 158 x55]* 122 7,200
UEES 8,000 *421#53| * 122 1,920
02 ZZ29H| 8,400 8,400 0
O32323 £ HMAl 8,400
—®IIQ32 400,0008* 12! 4,800
—2EHR2 200,000+ 122! 2,400
—HoIStvEa2 20,0008 * 122! 240
—0ISH3I)| AIB2
40,0002 * 122 *2CH 960
202 01t 5,400 7,200 A 1,800
01 2UHorH 5,400 7.200 A 1,800
OJ=YURLHET0I | 5,400
— QB 30,0002 * 15 * 122} 5,400
203 QR FAI| 3,240 3,420 A180
M BEASAARE Y| 3,240 3,420 A180
ORN2YYRETIY|
300, 0002 * 1221 90% 3,240
22=x 1 1,449,409 1,551,103 ~101,694
= 1,004,900
Al 207,568
=] 146,921
222X X 1,449,409 1,551,103 ~101,694
=2 1,004,900
Al 207,568
=] 146,921
22X KA 1,368,625 1,148,000 220,625
= 1,004,900
Al 136,863
=) 136,862
301 BB X2 1,368,625 1,148,000 220,625
= 1,004,900
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 136,863
T 136,862
01 A2 HSHS (22X 1,368,625 1,148,000 220,625
O S=XXZ A 1,368,625,000& 1,368,625
= 1,094,900
Al 136,863
- 136,862
2SN 1290|s8 29 10,059 9,215 844
201 er23 | 10,059 9,215 844
01 At2teltl 9,119 7,715 1,404
O2sX& 12971 =¢!
37,0003+ 122 444
Ok 129|se 288l € 24|
500,000 500
OUSXNHYAARE 29 &=
70,0002+ * 123 7,560
ORI+ &2 & dE0l HE 1552 S
= 615,000& 615
02 S3=gHl 940 1,500 A560
OXtg A2/ 940,000 *1CH 940
SOS 2IZ= XA 70,725 94,000 N23,275
Al 70,725
301 EtE NS 70,725 94,000 N23,275
Al 70,725
02 MBI 2HHSFHS(HAANS, XLHE) 70,725 94,000 N23,275
O8S0S 2IS=XIAH 70,725,000 70,725
Al 70,725
Arglotd e 25t 2,881,512 2,894,326 A12,814
= 81,999
Al 1,465,845
- 1,333,668
Atedl2te| XI& 121,420 121,520 A100
= 81,999
Al 19,286
- 20,135
ANZ7 SEA 22 X~ 12,850 12,950 A100
= 6,000
Al 3,000
- 3,850
201 fet=3| 8,400 8,400 0
[ 4,200
Al 2,100
- 2,100
01 AtR2t2lHI 8,400 8,400 0




FA SAX2
. Atelotd e 2t
SRl Aldl2tel X3 c
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAtell2tel 238l 8,400,000 8,400
= 4,200
Al 2,100
- 2,100
203 HR=H] 850 950 A100
03 A=A H A 850 950 2100
OFeHE g2 =8 1,000, 0002 *85% 850
301 EtE N = 3,600 3,600 0
[ 1,800
Al 900
T 900
01 A2 HSHS(RNEETHE 3,600 3,600 0
OAtli2tel ekt SXIABIA X2
3,600,000& 3,600
= 1,800
Al 900
T 900
SHS XEY SEAMHIA XEH 108,570 108,570
= 75,999
Al 16,286
T 16,285
201 er23| 75,999 75,999
= 53,199
Al 11,400
- 11,400
01 At22t2lH] 75,999 75,999
OS Atel2el 24l 6,909,000 1S 75,999
= 53,199
Al 11,400
- 11,400
301 22N = 32,571 32,571
= 22,800
Al 4,886
- 4,885
01 Al 2E A S(FREXM) 32,571 32,571 0
OS Atcl2tel tak SXIAHA X2
2,961,000+ 11S 32,571
= 22,800
Al 4,886
- 4,885
KA 2ESHATS 20,209 18,108 2,101
Al 5,671
- 14,538
— 4 —
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
SH0I=XZ012Y 5,957 6,003 N6
201 er23 | 5,957 6,003 A6
01 At2teltl 5,357 5,357 0
Oo0I=Xo0l 22 29 5,357
—sns EANLS HIE 357,0002 357
~E22E(BS4E S) ME
10,0002 *500 5,000
03 A= &I 600 646 A6
OO0IZXNZ0l W= 600,000& 12 600
FAHS 20101 2elAAE 75 9,252 12,105 A2,853
Al 5,671
- 3,581
201 er23| 9,252 12,106 N2,853
Al 5,671
- 3,581
01 AtR2te|HI 9,252 12,105 A2,853
OFAE DY BeINAE(SEED
) S4&Hl X 2,090,000 2,090
Al 2,090
OAIIOIZ SEAHIA 312 U ZAE A
== 7,162,000& 7,162
Al 3,581
- 3,581
DAL Glg2e] AIAE 2= 5,000 5,000
201 er23 | 5,000 5,000
01 At2teltl 5,000 5,000
ODSAL oflgt2tel (APP) MIZ
5,000,000& *12] 5,000
Al EX2 24 2,607,136 2,659,770 N\52,634
Al 1,419,438
- 1,187,698
AMNEIEX 2 2E 947,638 1,016,257 68,619
Al 947,638
307 el2to| & 947,638 895,125 52,513
Al 947,638
10 Al SXAEEHE 22X 947,638 895,125 52,513
O&HOPILSEAISI =SR2 2L 927,113
—Atg|= X2 el2g| 806,217,000& 806,217
Al 806,217
—A2ISXI2 28| 62,444,000 62,444
Al 62,444
—AtEISX2 T2 8 23|
58,452,000 58,452
Al 58,452
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A SXXE

M Atelotd e 2t
SR AlRISX2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 17,700 17,000 700
03 Ar=EHI 17,700 17,000 700
OARISXIAIES AR P2 H SE2at 1
= 700,000 12 700
OALISXIAIE AL |ITE KA
17,000,000& 17,000
203 gF=4| 850 0 850
03 A=A 2= 850 0 850
OXSAteI=X g2 =&
1,000,000 85% 850
301 EtE N = 194,000 173,960 20,040
02 ARSI 2 XSG (FHAAHS, NLWE) 190,000 170,000 20,000
OARRIS A2t SAHAF XMIH&H|
100,000%4*1,900H 190,000
11 #AIAHIXIE S 4,000 3,960 40
OAMZIZXAIES AL 2198 S|
8,000 250 *23] 4,000
307 glztol & 3,390 3,380 10
Al 3,390
06 28= 3,390 3,380 10
OARISXIAIE S AR &2 X~
10,0003 %339 3,390
Al 3,390
FEWIAMY KIE 69,182 81,216 A12,034
Al 35,296
- 33,886
307 212+01& 69,182 81,216 12,034
Al 35,296
- 33,886
11 AMEISXAEEE 69,182 81,216 A12,034
OFEWIANS XA 67,772
— oIyl 44,272,000 +18 44,272
Al 22,136
- 22,136
—=3H4| 23,500,000& 23,500
Al 11,750
- 11,750
O SAHA X8
125,0003 128 %23] 250
Al 250
O3 SAA S
80,0002 x 1~ 122 960
Al 960
OZCEW SAHA A2 AH|
200,000 *1 200
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SXIXIZ 4

S ALZ|oHM D 25t
Rl AlRSX2 2Y EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| Al 200
ZECOBIAIY XI&A 161,990 140,690 21,300
Al 82,330
- 79,660
307 QIZ2t01 A 161,990 140,690 21,300
Al 82,330
- 79,660
11 AR SXAMEER 161,990 140,690 21,300
ZC0EIAY XI& 116,446
— oIl 59,326,000& «1% 59,326
Al 29,663
- 29,663
—=2g4| 57,120,000& 57,120
Al 28,560
- 28,560
OZC0! BALAL =XE =
150,000& 23] x 14 300
Al 300
OZCS0t2! SAR SEI
80,0003 x 1+ 12& 960
Al 960
OFEO! SZUEMHIA AFS XA 42,874
aralsl 39,174,0003 1Y 39,174
Al 19,587
- 19,587
— 294 3,700,000& 3,700
Al 1,850
- 1,850
OFEOr! SZUEMEIA SALL =X E >
125,000 * 1 +23| 250
Al 250
OZC0E! S2SHEMEIA SAA Sl
80,0003 *1H 123 960
Al 960
OFE0E! SZUEMEIA SAR H2H3 A
a] 200,000 *1H 200
Al 200
AMIERHE XS (AIZEXAIE)(HEAIY) 525,548 512,237 13,311
301 LEtENZ 525,548 512,237 13,311
10 A =SRRIABAS 525,548 512,237 13,311
OMNI=RRE B4 525,548
—AM3I=XIZ0F 20 419,420,000 419,420
—At2|EXIZ0F nEH|
3,000 x36F 22« 12 28,512
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M Atelotd e 2t
SR AlRISX2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—Al2I= X220t U=
336,000 %33 11,088
— ARl SXIZ20F S4HI
7,000 x36EH 222 12 66,528
obke SXABIA 127,747 25,768 101,979
Al 21,450
- 106,297
R0t MIEAHIA 21,450 19,000 2,450
Al 21,450
307 @I2to| & 21,450 19,000 2,450
Al 21,450
1 AMEISXAEEXS 21,450 19,000 2,450
OO0t MEAMHIA 21,450,000& 21,450
Al 21,450
HoPts EAHSAAHA 2Y 6,297 6,768 AA4TT
201 er23 | 6,297 6.768 AA4T
01 At2teltl 6,297 6,768 avivg
OO0t EHEXAMEIA 2= AlelE H
= 6,000,000& 6,000
OLEEZ S 297,000 297
MNASR daory XA 100,000 100,000
301 22N = 100,000 100,000
02 A 2E AT S(FIANS, XLETHE) 100,000 100,000
OXtaAAS K3 S3HArH 100,000
—23Xt2l OlAHE] XI&
500,0002 1109+ 55,000
—YSE - SU 2AZHl X
1,000, 0002 x25H 25,000
—4l MRl - MRA ZIAHHI K1 &
500,000& »40H 20,000
XS AR =X 2d st 5,000 69,160 A64,160
NS 29 5,000 5,000 0
201 er23| 5,000 5,000 0
01 At2teltl 5,000 5,000 0
OXNSEA2NE e ME 5,000,000& 5,000




